Les sighes des opérations

18..5=13 7..4=11 7..10=70
25..4=29 5..7=12 9..1=8
20...5=15 5..9=45 8..2=6
7..4=3 21..5=16 12..9=21

& www.lutinbazar.fr

Casauz

Pour verifier tes réponses, utilise la grille de correction @




Les sighes des opérations

18 ..8=26

18..9=9 10..6=4 8..10=280
9..5=14 5..7=35 8..8=16 15..5=10
10..8=2 10..5=15 3..2=6 5..5=25
4..8=32 8..3=5 5..7=12 11..9=20

& www.lutinbazar.fr

Pour verifier tes réponses, utilise la grille de correction

Casauz




Les sighes des opérations e

15..17=32 | 25..10=15 | 12..2=24 12 ..4=48

32..3=29 | 25..15=40 | 32..4=36 | 63..5=315

12..4=8 54..15=69 | 63..5=58 | 45..5=225

32..3=96 | 32..4=128 | 45..5=40 | 23..16=39

& www.lutinbazar.fr

Casauz

Pour verifier tes réponses, utilise la grille de correction @




Les sighes des opérations

+ = imf:)I:sl:Lle
7.4=11 10..5=5 7..5=8 5..3=15
16..3=13 3..5=18 10..6=2 4..6=24
13..4=17 16..8=8 23...6=29 1..8=0
2..9=18 20..6=26 10...6=60 5..9=14 i%

Pour verifier tes réponses, utilise la grille de correction @




Les sighes des opérations

+ = imE)?JI:sl:Lle
4..9=13 24 ...4 =28 10..5=5 12..4=8
21..2=13 3..3=9 2..5=10 12..3=17
4..9=36 8..1=10 19..4=23 6..2=5
21..4=17 25..8=33 10...7=70 14..5=9 i%

Pour verifier tes réponses, utilise la grille de correction @




